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�! (15 ©) ¦ÑL�:�Úý¥¡ 4x2 + 5y2 + 6z2 = 1 �������±�¤k

²¡.

�! (15 ©) � 0 < f(x) < 1, Ã¡È©3
∫ +∞

0
f(x) dx Ú

∫ +∞
0

xf(x) dx ÑÂñ. ¦

y:
∫ +∞

0
xf(x) dx > 1

2

(∫ +∞
0

f(x) dx
)2

.

n! (15©)�
∞∑

n=1

nanÂñ, tn = an+1+2an+2+· · ·+kan+k +· · · .y²: lim
n→+∞

tn = 0.

o! (15 ©) � A ∈ Mn(C), ½Â�5C� σA : Mn(C) → Mn(C), σA(X) = AX −

XA. y²: � A �é�z�, σA ��é�z. ùp Mn(C) ´Eê� C þ n �

�
|¤��5�m.

Ê! (20 ©) �ëY¼ê f : R → R ÷v sup
x,y∈R

|f(x + y) − f(x) − f(y)| < +∞. y²:

�3¢~ê a ÷v sup
x∈R

|f(x) − ax| < +∞.

8! (20 ©) � ϕ : Mn(R) → R ´�"�5N�, ÷v ϕ(XY ) = ϕ(Y X), ∀X,Y ∈

Mn(R), ùp Mn(R) ´¢ê� R þ n ��
|¤��5�m. 3 Mn(R) þ½

ÂV�5. (−,−) : Mn(R) × Mn(R) → R Xe: (X,Y ) = ϕ(XY ).

(1) y² (−,−) ´�òz�, =e (X, Y ) = 0, ∀Y ∈ Mn(R), K X = 0.

(2) � A1, · · · , An2 ´ Mn(R) ��|Ä, B1, · · · , Bn2 ´�A�éóÄ, =

(Ai, Bj) = δij =

0, � i 6= j;

1, � i = j.

y²
n2∑
i=1

AiBi ´êþÝ
.
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